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Liking donuts
[bookmark: _GoBack]








Homer’s genes:  D D
Marge’s genes: d d














Key: D = likes donuts
d =  doesn’t like 
donuts



All the new babies have the genes __ __
All the new babies: _________________  because liking donuts is dominant/recessive . 

Weight








Homer’s genes: n n
Marge’s genes: N N















Key:  N= normal weight
n = obese weight .




All the new babies have the genes __ __. All the new babies have normal weight because normal weight is _______________
Musical ability
Homer has one gene for no musical ability and one gene for musical ability. His genes are M m. He has musical ability because musical ability is dominant.
Marge does not have musical ability. Her genes are m m. Using a punnet square, show the possible gene combinations of their offspring:



















